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COMPOUND PENDULUM  

AIM:

The aim of this experiment is to measure g using a compound pendulum. 

YOU WILL NEED:

WHAT TO DO:

First put the knife edge through the hole in the metre rule nearest end A, and record the time for 10 oscillations. Hence work out the time for one oscillation (T).

Repeat this for each hole in the ruler for a series of different distances (d) from end A. 

ANALYSIS AND CALCULATIONS:

Plot a graph of T against d.

From the graph record a series of values of the simple equivalent pendulum (L).

Calculate the value of g from the graph or from the formula:


 T2 = 42L/g
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